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1.
Find the average value of the function on the given interval. Reduce your answer to lowest terms.

glx) = XEWIEM + x3 , [0, 8]

2.
The region bounded by the curve

v=4 yv=x - 5x+ 8

is rotated about the axis ¥ = — 3. Find the volume of the resulting solid by any method.
3.
Set up, but do not evaluate, an integral for the volume of the solid obtained by rotating the region bounded by the curve

x=\|'siny,ﬂsys:r,>f=ﬂ;

about the axis ¥ = 5.

®
-
n

J (5 - Wsiny d
.!T y)siny dy

b V = '_I"z,T{S + yWsiny dy
0

c. V = ',fz:{y ~ S)ysiny dy
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& V= [27(5 - yWsiny dy
0

.L-"=d2, (5 + y)4siny d

e { (5 + y){siny dy

4.

Use the method of cylindrical shells to find the volume of the solid obtained by rotating the region bounded by the curves

x=5y2— ys,x=0

about the x-axis.
5.

2
Find the values of ¢ such that the area of the region bounded by the parabolas ¥ = % — € and ¥ = €
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Refer to the figure and find the volume generated by rotating the 7 1 about BC .

X

d A(1.0)

Enter your answer as an expression using the symbol T or as a decimal rounded to the nearest hundredth.

7.
Refer to the figure and find the volume generated by rotating the given region about the specified line.

HE about OC,

Enter your answer as an expression using the symbol T or as a decimal rounded to the nearest hundredths.

8.
Find the average value of f on the given interval.

filx) = 3sinx — sindx, [0, 7]

9.
2
Find all number(s) b such that the average value of fix) = 5 + 14x — 3x  ontheinterval [0, b ]is equal to 8.
10.
. . . 9x -
Find the area of the region bounded by the curves ¥ = 9 sin 9%,y = 9" ,x = 0,andx = _—
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